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MULTIPLE CHOICE – COLD WAR

_____ 1. What was one result of World War II?
(1)  The arms race ended
(2)  The Cold War ended
(3)  Communism was eliminated
(4)  Two superpowers emerged


_____ 2.  Laissez-faire economists of the 19th century argued that
(1) the government should regulate the economy and foreign trade
(2) individuals should be allowed to pursue their self-interest in a free market
(3) governments should develop a state-run banking system to prevent instability
(4) anarchy would result if universal male suffrage was granted


_____ 3. "From Stettin in the Baltic to Trieste in the Adriatic, an iron curtain has descended across the continent." -- Winston Churchill (1946)

This statement refers to the 
(1) beginning of the Cold War 
(2) end of World War I 
(3) unification of Germany
(4) Russian Revolution


_____ 4. The main reason the United States entered World War II was to
(1) Gain additional overseas territories
(2) Stop totalitarian aggression
(3) Honor its treaty commitments
(4) Spread capitalist economic ideas to poor nations


_____ 5. Why was Germany split between the four Allied Powers?
(1) France and Britain wanted to follow the parliamentary democratic system while the other two favored a dictatorship.
(2) Hitler preferred to split Germany into four sectors.
(3) The Soviet Union wanted to spread communism while the other three wanted to spread capitalism and democracy.
(4) Germany had four main political parties so four sectors made the most sense.


_____ 6. The term iron curtain refers to the 
(1) scars left on the land by the trenches of World War I
(2) border established between India and Pakistan after World War II
(3) no-fly zone in northern Iraq after the Persian Gulf War
(4) western boundary of Soviet domination in Europe during the Cold War


_____ 7. A key principle of the economic theory of communism is 
(1) restoration of a bartering system
(2) organization of workers’ unions
(3) government ownership of property
(4) privatization of business


_____ 8. After World War II, the Soviet Union maintained control of many Eastern European nations mainly because these nations were
(1) a source of new technology and skilled labor
(2) near warm-water ports on the Adriatic Sea
(3) extensions of communist power
(4) members of the North Atlantic Treaty Organization (NATO)


_____ 9. One reason the Soviet Union formed the Warsaw Pact was to
(1) ease the transition to democracy 
(2) help institute capitalism in Eastern Europe 
(3) limit the threat of invasion from Western Europe 
(4) challenge the economic successes of the Common Market


_____ 10. The economic theory of laissez-faire capitalism proposes that 
(1) command economies should provide the greatest opportunity for national growth
(2) the nobility should have strict control over business and industry
(3) the practices of mercantilism should be expanded
(4) governments should not interfere with business


_____ 11. The formation of the North Atlantic Treaty Organization (NATO), the division of Germany into East Germany and West Germany, and the Korean War were immediate reactions to 
(1) Japanese military aggression in the 1930s 
(2) the rise of German nationalism after World War I 
(3) ethnic conflict and civil war in Africa in the 1950s 
(4) communist expansion after World War II
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